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Module Name : General Paper
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Sr. No. General Paper
PAPER I

1 If the ducklings and goslings follow the mother soon after the hatching, it is an example of

QMG &15 & Eh&&H6T IhMmMILD BILIMeM6US &Eh&&H6T Saummler Ml QUTHlEs 2 L Ger, HTenwld QS MTLIHST6 Sl

&G 2_SHTT600TLD Q@& LD.
A Learning
FHMHMeEV

B: Modelling

LIS flenw e&HsIL GUITE6
C: Imprinting

Blemeotemaull LIS & 560
D: Maturation

WHTFR el Be0
2
Compare the teaching model with ifs theorists :
Model Theorists
(i)  Inductive training (a) Hida Taba
model
(i) Inguiry fraining model (b)  Richard Suchman
(i)  Classroom meeting (c)  William Glaser
model
(iv) Advance organiser (d) David Ausubel
model
Select the correct option :
&DUS560 wrHlflenw izeT Garium(hsEnLeT pUb{Hs.
wmifl CaMLUmLLTeTJE6T
(1) e9Heuupd wrhfl ()  anfleLr grum
(2) eflgEmyeneser LUSIHE (i) feFyL ssGssr
mglifl
(3) U@L Fal LD (i) eNevsSwd HlGemey
(4) wrsif (iv) GLefiC gusCluey
(pstTevTenuf]
SiemwliumeTy L
gflwnes eflpLug Coreilens GaTmHelsHl&sa|0.
Az (D)-(d), (iD)-(c), (iiD)~(b), (iv)-(a)
1-(iv), 2-(iii), 3-(ii), 4-(i)
B (D)-(b), (i)-(c), (iiD)~(d), (iv)-(a)
1-(ii), 2-(iii), 3-(iv), 4-(i)
C: (D), (i)-(b), (ii)~(c), (iv)-(d)
1-(), 2-(ii), 3-(iii), 4-(iv)
D: (i)-(c), (i)-(d), (iii)~(a), (iv)-(b)
1-(iii), 2-(iv), 3-(i), 4-(ii)
3 In level of teaching, the teacher presents factual information before the learner.

&HL556 BlemeuuNey, SR FWT SHLIGUT (DT 2_600TemLOITET &&6U605H6M6T QULPBIGR MIT.

A: Memory
Bleneorey
B: Understanding
UfBS Q& MTaTEHS60
C: Reflective
e uediiy
D: Interest

Qujelld
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4 A person becomes conscious of the various aspects of reality through his/her .
6Th& &(H SevflneflFHeniin Heorgl aumpailey WIMSITITS S BIgem 6T eLOGULD 2_600T[T (5 &1 @ &5 TS 60T M 60T .
A Perception
L|6VeDT&ITL_ &)
B: Acculturation
6(H LIsoTUML 19 M@ LmMHlWLenng i 6 & TeTEH5560
C: Stimulation
&evor(H)g eV
D: Sensation
2 _GU0T[J &6V

5 Swayam prabha is a group of DTH channels developed to telecast high-quality educational programmes on 24 x 7 basis using GSAT-15 satellite.
FWITOLIFLIT eTedTLISI DTH (W& SHET eLn6uLD 24x7 D60l IGBIFLOLD, G SAT 15 FMgemeul. el WG 2 WHST Hevell&Fmy
Bl s gefl LUTLILeISH&HTE 2 (HeuTshasLILLL Sl
A: 25

25
B: 30
30
C: 40
40
D: 45
45
6 Which of the following is not true with regard to Quantitative Research ?
GTGUOTEUOTETEY U6 GG L6 6l ([heUesTal DMIET 6Tl & iflUeorm?
A: Ttuses 'top-down' or deductive approach.
3181 CLEBHS HLb CHTHSHH Jeveugl HeflGal allevsH ah1SH0 auanduiley SjemuLh.
B: Its results are statiscally relative.
215601 ellemena| &6 Liemerfluflwicy FHWIMS HLDLIS S SHETenIn 2 60U
C: Itis based on logical-positive paradigm.
&6 FHWlenmer MG &em6T S LIl L WITEE Q& TeuTLSl.
D: Its results cannot be generalised.
215607 allemeney&HemeT QUTSIeMWLLUILMBSS (LG WMSI.

7 The condition which rules out the effects of other variables on the experiment is known as of the experiment.
ufl@ergseameruilev nmm Wrailserfler ellemerelsener BIFMasK16 @0 BlLbSemeor LIICE mesemeorullesr 6T60T
IOPESELILGHMSI.

A: External validity
LD ghLemL L0
B: Testing effect
GFMHeMe 6llemerey
C: Internal validity
915 gHLML6mLD
D: confounding
GLLILILD
8

A theory explains and predicts the probable relationship between independent and dependent variables is

aflem&&1D QFMeLed, eTHT a6t 6oTHEm6TE: &60vflH !, SetTevtlgFeng WMl LDMMILD FTTL6mL W QQ’;I‘I’I_IJ' MM &EHE G
@ emLGWWImeT 2 menal e16Té G 6l S! S UIAUMEGLD.

A: Qualitative research
BT |66 Spllie)
B : Quantitative research
GTEUOTGOOTETEY QLU 16
C: Action research
QFWLHILL 3 lley
D: Case study
S6otIWIMeT gy Ule)
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9 Given below are two statements
Statement I Hypothesis builds researchers confidence in his result
Statement IT Hypothesis gives directions to the inquiry
Choose the correct options.
@\ T600T(H) FaMMIG 56T BGLD Q&HT(H&HSLILIL (H6T6T60T.
Fa Mol I: HBSICSHTET QL TMUFRWTETHEG 2T TUFR U6 Wige] LMHMIW BLNGEmEm WS Q&ETH&ERMSI.
Tl 1I: 5B SICHTETEH6T 9 TMLFR W6 HlemaFemnw §Lnmesil& G eormeot.
GLOG6V 2 6T o MMIGET 2)1q LILiemLUlev Fflwimer UHemevsd CHIHE & H & LD.

A: Both Statement I and Statement II are correct
Fa Dol T LDHMILD Fnmmi 1T GFeoor(HLD FflWmesTenel.
B: Statement I only correct
Famm 1 @D &ifl.
C: Statement IT only correct
Famol T LG &Fifl.
D: Both Statement I and Statement II are incorrect
Fa MM T LDMHMILD Fo MM T @) F6eooT(HILD & 6UMITETEDI6M.

10 | Economic Survey of chennai city is an example of .
QFGTEET H&HTSHH 60T QUITIHETTSTT UM ES @b 25T Jesorid

A Historical Research
UTVTHDI b6
B: Social Research
FUS e
C: Correlational Research
QaMLIY Splie)]
D: Descriptive Research
LieooTL| 6688 3bUl6)
1 The discoveries of mass society and mass culture phenomena were accompanied by a decided turn away from the contributions of .

GQ16UGR6T FENGLD LDMMILD Cl6U@G 6T SEVTEETT Bl&LheSerfler &etorGILIG LIL|&6T RIS BHS e
BILOMTETSHTLOMeT 668 aVIL 63T &) 60)600T [55) (5 [H & 60T

A': American pragmatism and the sociology of the Chicago school
QW& Hen L (nemmeUTSLD MHmID F&TCsT LeTermluiler Fengsaillwiain
B: Indian Idealism and the sociology of the Chicago school
@BH W Qe Awaumsupd AeTCsHT LsTerfluller Feupgsedwsiln
C: European pragmatism and the sociology of the Chicago school
CrmLLIW HemLWemmalm&@nld HesmGsm LeTterfluiler Fengsailwisiin
D: African existentialism and the sociology of the Chicago school.
U685 @phEeweibd FarCasm LsTefluler Fepngseilwein

Speeches are delivered in an attempt to impact audience behaviour for :
(I) Reinforcing an existing behaviour

(II) Justice for behaviour

(III) Altering an existing behaviour

(IV) Ceasing an existing behaviour

(V) Avoiding a future behaviour

LIMFen el W mer & er16dr L Gem&enll LITH &G CHTeHHESIL 60T GLIGSG6T aULPMHISLILIL &ITI6urLD.
(i) gD 6TEEU 2_6IT6IT [FL& 60 &H6m W 6UsILILI(D &SI 560

(i) FL SN S &S M B

(ii) FMH&H6OTG6U 2_6ITEIT [HL_&60)&6MULI LOITMH MG 60

(iv) gH&HETGEU 26Tl [BL S0 6M LI [BlMI& &I 560

(iv) TR & MoV LG SemW Sl FLLIS!.

A: (D), (D), (ITT) and (IV)
i, ii, iii LDMMILD iv
B: (I), (II), (IV) and (V)
i, iii, iv LDMMILD v
C: (), (1), (1) and (V)
ii, i, iii LDMH@ILD v
D: (1), (Iv), (V) and (II)
iii, iv, v LOMMILD ii

13 The characteristics of good writing are
(i) It transmits information, ideas and feelings to the reader clearly.
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14

15

16

(ii) It uses maximum number of words to make its point.
(iii) It is Precise and Modest.
(iv) It allows readers to receive messages directly.

T56V6V 6T(LD GG 60T LI6T0TL| &6

(i) 56UV GET, 6TEOOTEU0T MBI 6T LOMHMILD 2_600T[J6) & 6M 6T 6UTEFS(HS G S QST eUTs &LSSIR M.

(il) & H60TEI &HBSGMS QauelILIHSS 215 & 6Tevor6u0r1 86018 U6V ITEOT Q&FMMH&METLI LILIGTLUGSSIB M.
(iii) @ &I S16VEIDITEOTSI LOMHMILD LGS LOTEOTSI.

(iv) UMTESHTG&HET CHIIQTSHE QF UG Hm6TL QUM HUNHERMSI.

Fiflwmer eflemLenw Q5flay Q&FWIwea]LD.

A (), (i) & (iii)

i, ii, LDHmILD iii
B: (i), (iii) & (iv)

i, ifi, LDHOILD iv
C: (), (i) & (iv)

i, ii, LDMMILD iv
D: (i), (iii) & (iv)

Which refers to the overtones, implications or additional meaning associated with a word or an object ?
2(h QFME VLG QLITHEBLET QSTLTLML Fa(B S6V QLITIHET, 2_6TEBETT6] VLS HTEHSHLD 6TenHS GMSERMSI?

A connotative
2 _6TEH600T 6 GLITH6T
B: Denotative
GBI LI QUITHET
C: Relationships
QB TLIL&6T
D: Conversational Hypertext
2 JWITL6V ML QL& 6L
Which of the following is NOT a characteristic of mass culture, as understood by Western Sociology ?

CMmasSHW Fenseilwe Lilbg Q& mesorLLilg., LNe6T eupeusreummley 6T& Q6U@GR6T SevmTdaFmrs e er AmUILIweuL] 3j6v6v?

A Widespread popularity across social classes
Fens UG LILG6T60 LITaIEUTET L&D
B: Emphasis on high artistic and literary standards
2 WIHem6 LDMHMILD G ev&HIW SIMHIGEHSHE (&R WS SIaD 36rfldHe0.
C: Man production and distribution
QUOGHB TT 2 MUSH LMHmih N BIGWITELD
D: Commercialisation aimed at a large audience

SF\& LITTE6ULITETIS60)6M ©) 60858 G&T600T L 61600118 L0 UILDITE &6V

The average speed of a train in the onward journey is 25% more than that in the return journey. The train halt for one hour on reaching the destination. The total
time taken for the complete to and fro journey is 15 hours, covering a distance of 560 km. The speed of the train in the onward journey is :

& TUledledr (LneTCeoTTEHTRW LIWetorsH 6ot FFmaFif] Geussomeral H G au@mld LweorsH et FrnaFf] Caussems el 25%
&I, @eVEH S LD CLTs Tulléy @@ el GHITLD MMISSLILIGID. QFaILD WMMID F@HHOLT e LWarsSHm &
TGS SHQG&TETEHLD QLOMS S GBHILD 15 06vof1& 6T, LnMHMmILD 560 BCMISLLT STTHe0S &L bSHS!. @) FTullededr (LnedTCeorme:SH W
LIUWI600T &5 60T G618 L0TEOTSI

A: 43 km/hr

43 &).5. / oeoof]
B: 44 km/hr

44 &.15. / oevof]
C: 43.5km/hr

43.5 &.18. / Loevof]
D: 45 km/hr

45 &).L85. / oeoof]

If x : y=2: 3, then the value of 3x + 5y : 5x + 3y is :
X1y =2:3 eT60fl6v, 3x+5y : 5x+3y—6dr LG LIL]

A: 26:31
26:31
B: 21:19
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21:19
C: 29:30
29:30
D: 19:21
19:21
18 A man can runs 6 km/hr in still water. It takes times twice as long to run up as to down the river. Find the rate of stream.

6 (15 neofl B 6dT Blemeviment BETTemLUN6L 6 H).1S./106vol) CHTSH6v LILCHMLL (DI, SuHMl6) BCLOML L 6058 ST eIh
GGEUITL_LLOTETS! @)(H LOL_MBIEG 6T60T 6T(H & SI8 Q& TE0TL_IT6V & 60T HOITLL e&&LD eTedrenr?

A: 4km/hr

4 &).15./1nevofl GBI LD
B: 2km/hr

2 &).15./1nevof] GBHILD
C: 1.5km/hr

1.5 ®).15./106v0f] GBITLD
D: 3 km/hr

3 &).15./1nevof] GBILD

19 An athlete runs 150 m distance in 60 seconds. Then his speed is :

@ @LLLU Ubsw iy 150 S STr&Hens 60 QBTSGefev Ly (N &ERMTH 6reoflev Haurs Geausn

A: 4kmph
4 kmph
B: 9kmph
9 kmph
C: 11 kmph
11 kmph
D: 5kmph
5 kmph

20 Find the value of 24% of 150 +55% of 120 is :
15060 24% + 120 60 55% 120—@) 60T DG LIL]

A: 66
66
B: 96
96
C: 112
112
D: 102
102

21 Statement :
Industrial cities are highly polluted Pollution means more diseases
Conclusions
1. People who live in industrial cities become immune to diseases
II. People living in cities which are not industrial are healthier than those who live in industrial cities.

FaMHMIGHET: QST BHHTHISHET6 L& H & LMELTH 2 6Tengl.

LOM&LIM(H) 6Tevfl6v Blemm Ut GrBITU IS 6T

WI96e]&6T I: QF L6 &I MHIS6TI6L aUF & EGD I0&HHEHE&HS CHITU THFLIL F&E) 2 6TaTs!.

II: 05 M6 B&IMHIGETEV6TS BT EIG6 60 euF LILIauTa&6T Qg mbley BT HGetley euF LiLiauaseneTail
2,CIMTEHSR WILDTETEU 6T :

A: olny conclusion II follows
We| I GG @IHSHGLD.
B: either I or II follows
W] I 3jeveusl Il QBHSHGSLD.
C: neither I nor II follows
Qe THHID II Qe G QBSSTS)
D: bothIand II follows
e 1 OMID I GO EL GBS G0

22 Choose the option which contains a pair of words related to each other in the same way as the pair given in capital letters :
BOUQUET : FLOWERS
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Q&MH&SLILL(H6Tar GRmigemwils GLTeuGel, EELD 2 6TaT (B CRIMY QFTMH& 6T Q&6 L eBLILSMS G5 FT6] Q&I eaLD.
LBIQ&HTSHSI: L& 86T

A': Necklace : Beads
& (DG & 600t] - LD6voT] & 61T
B: Door : Handle
556 : &L
C: Room : Door
60D : HH6Y
D: Door: Window
5HGH6) : BQ6OT6OTEV

23 In a dinner party both fish and meat were served some took fish and some only meat. There were some vegetarians who did not accept either. The rest accepted

both fish and meat. Which of the foowing logic diagram correctly reflects this situation ?

2@ @ U6y el BHSH eV, 6T LMHMILD GenmEs @uevor(b LflmmUiLL LerT. Fleul WiemeTw|b MMILD FlevT @enmEFF emliu]Ld
TS &I QG TEUITL60TT. FI6V 601F6U 2_600T6) 2_600TLIGUTE 6T @) T6toTem LD 6T(H S S18 Q& meTemailsuemnev. LSS (LD 6TeTeU T8 6iT LiSedT
WHMID @enmESR @) Tevoren LD 6T(H &SI 6 & MTevoTLeor ). LNeTeu(BLD 6T &J&8 eflamd:aLILL LD Bleneveninenwl Fifluwims
e uels&EaRmse?

A:

@@®®

O

O

9 €9

24 Which one of the following four logical diagrams represents accurately the relationship between musicians, Instrumentalists and Guitarist ?

LY 6tTau(BLD [FT60TE S (B85 eUenTLIL MiIg6rTl60 6THS R60TMI E)6N &S &6M6VEHI&H6T, @ &S &(IHall &emeVEHI&H6T LDMMID FGTT
FHMEVEHTHEHE G @ emLullevmeor 2_memeu SveSWnmss LNFHLeS&EH MG,

A:
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25 Arun walks 10 km towards north. Then he walked 6 km towards south. Then he walks 3 Kms towards east. How far and is which direction is he walking with
reference to his starting point ?
S|([H6VOT 6TEOTLIRU QUL 8@ CBMTEHS 10 BB ST BLESRmTT. Letteory Q&M& GBS 6 BGeuT LSLLJ LSS MM 38607
Wetteory H1p&& CHITES 3 RGeum WL LT BLERMTY. Sb,TbU L6Teflenw QUMTBSH S 316U 6Td g et HCeT LS LT LnMHmild
6Th& Henguilev BLERMT?
A: 5 km north-east
5RCem LT el Bp&HS
B: 7km west
7RG IS LT ChH&S
C: 7km east
7RG IS LT BPp&S
D: 5km west
5@ Ceum LT GG
26 Given below are two statements :

Statement (I)In simple bar diagram only width of the bar is important.
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Statement (II)In histogram both length as well as the width are important.
Choose the most appropriate answer from the options given below :

@\ T6toT(H) SIM&MHGHET HCLD Q& MTH &S LILIL (H6TeTeoT.

)G s I: eterfl LILemL afleméasLLSH 60 LILemL_ull6iT oi&euid L HIGLD (P& S WILDTETSI.

M G0 II: QFeUaISLILIL S 60T Harld LMHmID & 6VLh @) TeooT(HID (L& S WILDTEITS.

6 QaMTH&sLULGeTer allpLiLnkiIsem e ®BHs L&a|h QUTHSSLME LFHamne CHIHOS0.

A: Statement (I) is correct and Statement (II) is incorrect

MG s [ Flwmera HmiD o Mlésenss 11 &eUmTersl
B: Statement (I) is incorrect and Statement (II) is correct

NG & [ Haummersl LnmmiD léenss 11 &1l wmeTsl
C: Both Statement (I) and Statement (II) are correct

NG s [ MM SiM&enss 11 @ Teor@ D &iFlwimerene.
D: Both Statement (I) and Statement (II) are incorrect

NG s [ MM SMl&ena I @ T6uoT(hILD &6)MTETenel.

The data given below represents a sample study about the coffee habits in two towns in percentage.

Attributes il Total Tommy Total
Mailes | Females Males | Females
Coffee drinkers 16 ? 25 18 10 28
non-coffee drinkers | 36 39 75 37 35 72
Total 52 48 100 55 45 100
Based on the data observed, match the list.
List -1 List - 1l
(ij 18%inTowny (a) Femadles
(i) 36%inTown X (b) Males
(i) 55%inTowny (c) Male non-coffee drinkers
(iv) 48% in Town X (d) Male coffee drinkers

&Gy Qanfpssiul fHlerer gray Gramp perrsafis seallflshn syiuen sy &ml SyRHSID LPSESRISEET
¢ b ol sudiey E0.

. . BETD X HEID Y
LIGTITL|S6T
SUEEOTHET | ClUGTITSET | CLOMSHEHLD | QUEBTHET | GlUSET | GLomgH0n
;";‘Eyu et 8 g 25 18 10 28
&miil 72
SUBHETBOTEET 36 39 75 37 35
Glomgsn 52 48 100 55 45 100

samLfuuulL BerhsaisT Siglusmiuie ulipwsisamear ClummsEs.

uLigwien | u g Il
(a) m&ID Y-60 18% ) Clusmmmst
{b) BE&YID X-60 36% (i) Spewsmer
(c) MBS Y-60 55% (i) &smil ig_r?mgrrg
(d) [BSMLD Y-60 48% (iv) &M SyBHSHID
SUETITEETT

Az (D)-(0), (iD)-(d), (iiD)-(b), (iv)-(a)
(a) (iii), (b) (iv), (¢) (ii), (d) (D)
B: (i)-(d), (iD)-(c), (iii)~(a), (iv)-(b)
(a) (iv), (b) (iid), (¢) (@), (d) (i)
C: (D)), (iD)~(c), (iiD)~(b), (iv)-(a)
(@) (iv), (b) (iid), (¢) (ii), (d) (D)
D: (i)-(b), (iD)-(d), (iii)-(a), (iv)-(c)
(a) (i), (b) (iv), (¢) (1), (d) (iii)
Given below are two statements :
Statement I : Data can be obtained through a statistical survey.

Statement II : A statistical survey may either be general purpose or special purpose survey.
Choose the most appropriate answer from the options given below :

@ 6vor () 21 & &S 6T BELD Q& TH &&LILIL (B 6TerTenT.

n&ens I: Leerfl alleur ayllie] en6euD H&6IV&EEMET GlLIMLOLGU|LD

N Gen s I1: (1 LeiTerflefleur QuUle) 6TedrLIG QLIME CBHM&HSHD evevd AL CBHMTEHSEID Hers6 &ML @D,
EC Q&EMTH&a&LILL (HeTer allpLliLIBIGe el BH S L&ea|h QUTHSSELOMET LIHane CHIHOSMH.

A: Statement Iand Statement II are correct

MG s [ InmHMILD SiMl&ens 11 @ Tesor(\ b &iflwlmerene

B: Statement Iand Statement II are incorrect

GET IT ON

Google Play
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MG s [ InHMILD SiM&enss 11 @) Tevor(H)\D &6 M ITeoTen 6l
C: Statement I is correct but statement II is incorrect

NG5 [ FFIWMETS! 21,60TM60 M & e 11 HaUmMeTSI
D: Statement I is incorrect but statement II is correct

N G605 [ S6UMTEOTSHIL60TTEV S M&emas 11 &Fiflwimesrg
An open end class is a class in which

Bmbs Geuefl el wenmuiey

A Lower limit is missing
ELD 6TeLem6L S TeoTLILIL ail6Lemey
B: Upper limit is missing
BLO6V 6T6LEMEL S IMevorLILILefl6vemey
C: Both lower and upper limits are missing
BLD eTeLemeEV LDMMILD GLOEY ETELEMEY @) T6toT(HLD & MeuoT LILIL 6Xl60emey
D: Either lower or upper limits is missing

GELD 6T6LEMEV 316V6V G BLOGL 6TEVEMEV S ITevor LILIL ail6Lemev

The faollowing frequency distribution,
X : 12 17 24 36 45 48 52

f : 2 53 8 9 61

is classified as :

&G Qar{Hasuubib blapelaussor GUEMSLITETT LIMELITLIT(ELD.

X 12 17 24 | 36 45 | 48 52
f: |l 2] 5] 3]8]9]s6]1

A: Continuous distribution
QBTLFEFRWITET LIT6l6y
B: Discrete distribution
QBTLIFRWMM LIF6I6n
C: Individual distribution
SeofllILL L LITelev
D: Cumulative frequency distribution
&6 S1606VE16U6TIT LITEU6D
Which protocol is used to download the documents from internet ?

@) 60)600T U1 S T 60 (B &, 2,6 600T RIS EMETL LIGeIMmE S0 QF I, 6TES QBMWenm LIWeTUG SSLILGGRMS?

A: HTTP
HTTP
B: SMTP
SMTP
C: FTP
FTP
D: TCP
TCP

Which of the following provides the authentication factors of E-Pramaan ?

&E1D 55 600TLaUM M6V 6T&I E-Pramaan-65T 2 IS LGS SILD S ITT600f15:6em6lT aULlphIGHRMmSI?

A: Password, SMS, Phone calls and IRIS

&HL6FQEFM, GMIHHEHI6, QSTmVCLE enpliL] nmmih el
B: Password, OTP, Phone calls and Finger print

SLAIFQFITE, RUB(LLMM HLE|FQEFTE, QFTmVCLT el LnHMILD en&CTans
C: Password, OTP, Digital Certificate and Biometric

&HLAFQEFMe, R(B(LLENM &L 6|FQFT6, 6T6uoT(eMM FMeTMIHSLD nMHMILD 2 ulTeTenal
D: Password, SMS, Phone calls and Biometric

ELAFQEFTE, GMIbHSHEI0, QSHTenCLS SempliL] nMmmih 2 ulgeTenel

Who is the creator of www ?

GET IT ON

Google Play
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34

35

2_euGaTTallemUL 6U6D6VEMUL 2_(BEUME ST WITH?

A: Tim Berners Lee
191D QuUFeoTiev 65
B: Denso Wave
QLTGEFT Gousy

C: Vint Cerf
a6t QFFLILY
D: Carl Mike

STIJ6V MG

Which one of the following project aimed to connect all universities, research institutions libraries, laboratories, healthcare and agricultural institutions across
the country ?

FELDGHG600TL. G L EIS56Tl60 618 SIMaTSH S LIV 60608 &S BIGET, 9T TUIEFS Bl 0660 HhI& 6T, BTeVSBIGHE6T, 916185 MIGE6T,
SHSMSMTILD LDMHMID MU T [BlMI6)60TIEIS 606 @) 60 600TLILIENS CBITE: LTS 618 TeuoT(H6T6eTS?

A National Programme on Technology Enhanced Learning (NPTEL)
CxFAW Qambley BIL U CLUGSSLILLL &Hmev HIL_L LD (NPTEL)
B: Information and Library Network (INFLIBNET)

FH 5616V LDMMILD HBIT6LSH eUem6eVWemLDOLIL| (INFLIBNET)
C: Virtual Technology University (VTU)

QUUWEIET QSMSleLEIL LI LI&Heneus HLp&LD (VTU)
D: National Knowledge Network (NKN)
G5 W 3MlaySH M alemeuLIMLOLIL| (NKN)

Which Protocol is used in internet web passes ?

@) eme6toT W eUemeULl LI migerfley eThg QB wenm LIWeTLOMSSLILGRMSI?

A: SMTP
SMTP
B: UDP
UDP
C: HTTP
HTTP
D: ARP

ARP
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39

Match the following types of soil (List-l) and they are formed from the materials (List-Il).

List-I List-Il
a. Mollisol i Rhyolitic
b. Oxisol ii. Sandstone
c. Spodosol iii.  Basalific
d. Histosol iv. Doleritic

SLp&H6vTL 6BIT 6UEM S 6TT 60T (LIL1gwisy 1) epsummigssiiled(Hbgl

GClumUILILL meuseTT (UL iguwisy - II)

uLiguiev - | uLigwsev - Il
(@) Gomedlen LiTsv (1) eoyGumedligé
(b) QHFFTED (2) LDEWIDHEEY
(c) 6VGUTCLTFTEY (3) UMFEmEUL
(d) amlenGLrEmey (4) GLmCleuifligss

A a-iv, b-iii, c-ii, d-i
(a)-(4), (b)-(3), (©)-(2), (d)-(1)
B: a-i, b-iv, c-iii, d-ii
(a)-(1), (b)-(4), (¢)-(3), (d)-(2)
C: a-ii, b-i, c-iii, d-iv
(2)-(2), (b)-(1), (¢)-(3), (d)-(4)
D: a-i, b-ii, c-iii, d-iv
(a)-(1), (b)-(2), (©)-(3), (d)-(4)
How much percentage of methane present is a biogas mixture ?
2 WIFeuTW & Hevemeuuilev LG G 60T 6T6UI6TEe| FHaTHD 2 6Teng?

A: 55-65%
55-65%
B: 50-40%
50-40%
C: 40-30%
40-30%
D: 30-20%
30-20%

The primitive "Jarava" tribes inhabit in :

SMTTAUT 6T6TM Sb,H & M6V LIPMHIGIQUN6TT aumpid @)L b

A: Maldives Islands

LTeVEHe]

B: Lakshadweep Island
VL FSHHe

C: Assam
SIFMLD

D: Andaman-Nicobar Island
BB LOMET BlE&CHTUTT §6) &6t

In which year Meuse Valley air pollution disaster occurred ?

6THS aL,e00T (D) LAWLEN LIGTeMSSMER 60 &Thminmg: CUIfILT Bl&Lphss?

A: 1930
1930
B: 1940
1940
C: 1935
1935
D: 1945

1945
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40 COP 16 to the convention on Biological Diversity (CBD) was held at :
2 Wlflwev LT &S S 6Temn GMISHS 2 v&eTmellwl IDMBTH (COP16) 61MhIE HEOLQLIMHMSI?

A: Paris, France
umriflev, Lymedrerv
B: Glasgow, UK
SHemmervGaim, LIFIL1969 Fnl Lo
C: Cali, Columbia
&medl, Qs meubLwm
D: Baku, Azerbaijan

UIMTS, {831760LIg360T

41
Match the categories of Environmental components. Choose the
correct option.
List | List Il
1. Physical components i Economic and Moral values
2. Biological components ii. Population and
Urbanization
3. Social components iii. Plants and Animals
4, Cultural components iv. Land, Air and Water
FOHMIF G060 Famisertlsr suenssanst spliflpls. sflwrer sflmLLSEsTallens GCaoTay
FUIWeLD.
Ul iguien | LIl iguiev I
1. ubiSlwe samiser () CummeTTsTID WHMID
24elBm wHliLssir
2. 2 wiflws FamiseT (i) &seT blsmens WHMID
TB& T IDWILDITES60
3. FpHs Fam|S6iT (i) STEUTRISET WMHMID
sflurki g ameir
4. SHEOTEFSFTT FomSHeiT (iv) rbleud, &mmHmI Hmib B
al(HULSCHTa s :
A 14, 2-iii, 3-i, 4-iv
1-ii, 2-iii, 3-i, 4-iv
B: 1-iv, 2-iii, 3-ii, 4-i
1-iv, 2-iii, 3-ii, 4-i
C: 1+, 2-ii, 3-iii, 4-iv
141, 2-ii, 3-iii, 4-iv
D: 1-ii, 2-iii, 3-iv, 4-i
1-ii, 2-iii, 3-iv, 4-i
42 is an indirect method of teaching value education.
aflpilws sevallem smLIALILIG 6L LDEMULNG (DM & LD.
A Set of value Approach
QBTG US| SIEDIGS PN
B: Cognitive Development Approach
S EFTT UETTEFE VS LHEDM
C: Incidental Approach
Bl&5L06] SIS UEND
D: Value Analysis Approach
LH LI UGLLMLSE 4EDIG LM
43 is considered as a critical stage of formal education system. Which has a pivotal role in human development.

GTeTLIGI (emmwmeT &HeVal (e mUI6IT (P& WILDTET BleneWM&HS HHSLILGIG M. @& eflg euaTidF& uley
(WSRW LIMIG euREH M.

A Primary Education
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QBMLESHSE sevall

B: Secondary Education
@ 6L Blemev sevadl
C: Higher Education
2 Wi mlemev sevel
D: Elementary Education
QLTIDLI Blemev seval
44 The National wild life Action plan was introduced in for the rehabilitation of endangered species by captive breeding.

captive breeding eLpeuLD 9B SIeUHLD 2 WfleTh & emeT LMIeITDe| QFWLISHEHTEH @ 6v CHH W aleTall6LEIG
QFWHILLLD 9MlWasLIUGSSILL LS.

A: 1978-80
1978-80
B: 1985-86
1985-86
C: 1979-81
1979-81
D: 1983-84
1983-84
45 Economic values are also known as .
QUT@ETTSTT HLILSET  eTermild Sl wiLG& eTmenT.

A Utilitarian Value
Lwerum( &L

B: Physical Value
2 L6 G LI

C: Temporary Value
FHH&HTeN s G LI

D : Ethical Value

QBOIWEND LGILIL
Case Study from Question No. 46 to Question No. 50

Passage

Bananga leaves are large and have a waxy coating on their surface. This coating makes them easy to clean and water-resistant. They serve as an ideal surface for
cooking certain foods, like steamed momos and fish. "This method offers healthy cooking options, especially used in Goan and Parsi cuisine in India. Even
Chinese cuisine uses banana leaves for steaming some dishes", informs Dr Monal Velangi, senior dietician. Banana leaves are thus an integral part of many
traditional cuisines and culinary practices, especially in India.

In South India, the banana leaf's large size and flexible form makes it ideal for serving food at home and in restaurants. However, it's important to clean the
leaves thoroughly before use. According to Dr Velangi, the juices from banana leaves contribute a unique taste and aroma to food when used for steaming. She
notes, "Research on animals suggests anti-diabetic effects from the banana leaf extract, rutin, but further studies are needed. Cooking also releases polyphenols
and flavonoids from the leaves, which enter the food and provide antioxidant benefits. These antioxidants may help delay the onset and progression of non-
communicable diseases like diabetes, cancer and heart disease.

In Sanskrit, banana leaves are termed 'kadali' leaves and are considered sacred and holy in Hindu mythology. They are commonly used to distribute 'prasad' in
temples. This practice has provided an eco-friendly approach in India for centuries. With recent climate change concerns, the continued use of banana leaves as
natural tablemats and serving dishes is appreciable.

Dr Velangi says that siting on the floor while eating from a banana leaf can offer additional health benefits according to yogic principles. Additionally, banana
leaves were historically used in the serving of Satvik food.

Passage

amenLp @emeus6T Quiflweneal MHMID SjeumleTr CLMUTLILIL QWG L& 2_6TeTer. @)hg LLES euhenm &&HEID

QF el eTelsMHGRME mMILD BT eTHFLIL 2 6Temgl. Gauskemealss GmGLOMey LnMMILD LT GLIMETM Flev 2_600T6) & 6m6rT
FOHS el FMHES CLHUTILNTS QF WeLIGH6TMET. "@bhS (LemM 24,8 T8 WLDTET F6mLDUI6 (LD6MM & 6M6T
QALPBIGHMS, GOILILTS @hEH WMl Gl MmmIh LTS 2_eure| aleng&afley LwWeTLG SSLILGGEMSI. Fer 2_ewure|
A& &6Tl6) gnl Flev 2_6oTa|&Hen 6T aLalluilley Cals a5 QUL @) 6V&6TL LIWTUMB SSIRMTISH6T" 6T6Tm NGS5

2 eooTedl W6 Bl etory LM&LIT Gomersy CGaueumi® Qs flel&@mmy. Gmlliums @i wmailley, aumenLp @eneu&s6T Liey
Umyuflu 2_6sore) eUen & 86T LnMMILD FeLDLLIGY 660 L (LNemM &6l 60T 6 (B BIS 60 600THS LIS S LIMEGLD.

Q@ aTerflbEH Wmalev, aumenip @emeuuiler QUL 3jeTe] LnMHMID QB LDEITET allgallD el 19 6Vilh 2 6uoTel S BIgG e evilh 2 6toTe)
uiflorm gHmsns semn&Hmg. @ LI, LWaTUG SSaSMHE (LDETL| E)M6VE 66T el &6 5D QF S (&R WILD.
LT&LT Ceueuim &6t dammiliLilg, aumenip @emeusefledmhal aub smmigser Brmelluley LweTU® SSIDCLITS 2_600T6) & &
62(1H 560115160 M60T &emIel LDMHMILD IS MG LIS 6|6 60Tmenr. Siaul Gaviid, "efleumki@Gs6r Limmlul QL Tmulss
QML @ 6mev FMmI, (HLy6edT &P weummledmig Biflfley eTHTLiL aflemeraseneT LFlHSIenTER MG, Sb,60TTev 3FH 6V GLogvild
21656 G emal" eTedTml GMILILIBSEMITT. FenlndHGLCLTS @) eneu&ertledhb g LImedlLNeTmeu& 6T MMl

sUlermeuetmii@G semeru]b QeausflulGEmS!, Semel 2 aorall6l BienLBES 2,86 CeTmM [H60T60) 08 6T 610 MHIE D) T M 6oT.
AQbs aLs&mCarmmlsar Bilyflel, UHmCHTU wHmD GsWw GBI GUTETM Q&STHMT CHTUISHEM 6T Q&ML 58565 WD
WeTCRTHMSMS LD STIOSILGSS 2 SalD.

FLOEN R ([HSHHH 6V, QUTEOILD @)606VGEH6T '5560)' @) 6M6EVE6T 6T60TMI | 6emLP& S LILIMG G 60Tm 60T, GLOaVILD 3j6emel @\HS! LT Teor & 6rflev
Leflsloms &S LIUGRermerr. Camulldserfley LFeFmsh alpkis @emal  FH s LIWeTLRSSLILG S 6Tmer. @)HS
BEML(LDEDM LIGV BIMHMTesoT(H) &6MM& @) H% W Mailéy & M mi&@Loev HLL| 261G Wenmenl aIpkEIS U aTargl. FLSLSSHWw
GITELIB6EM6V LDMMM &6U6D)6VE EBL 6T, QUITENLD G)6MeVEemer @)W MenssWimest Gueng ellflliL&eTm&a b, Ufllommild

2 GOOTEY&HEMMHAD QSHTLFHS LWeTUHSHSINS UTITL L §H555HSI.

almenLp @emeuuiley FTLILNHLEUTE SenTwile 2 I &MihHE QaHmeTalg CUTEHS Q& MeTen &6 T S60 2LCT TSR W
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60T LD & 6M 6T 246ifl& G LD 6T6dTMI LTS LT GaUeuhISR SaMIGMITY. Sa(h &6V, QUTENL @)6e06V&6T alFeumm Ml WS
FISAILDTET 2_6voremel LIKFILDmmieuGev L6t LI(H & & LILIL L 6oT.

46 What is one of the key benefits of banana leaves in cooking, as mentioned in the passage ?

uUSH UL GO B 6TaTLL, FemLnUiedlel eUTanLD @606V LILLIGHTLIML LY 60TIT6V 2_600T L ITGLD (&G W [HedTenLn&erl6y sp6adTmi
6TGOT6OT?

A': They enhance the colour of food
2_eooredl6dT BlIM&enS 215 &85 edrm 6ot

B: They provide a waxy coating to the food
2 66 &HE R QONEG LLFNTF 6ULDMIE 5 60T M 60T

C: They add a unique taste and aroma to food during steaming
amempuiensuuiley emeaug g Brmallulley FenindGLd CLIME 2 600T6) & @& (B & 6015 SIaILNTET &emel LMHMILD [H.MILDETTSH NS
GF 178 &) 60T M 60T

D: They make food last longer
2 60016 QG LITLDGY [HevoTL &meuld 5198688 G\& IS 60T m 60T

47 What is the significance of banana leaves in Hindu mythology ?
Q& LJmeoormigerley eumentp @ eneuuiledr (p&HE WG SIeuLD 6T60T60r?

A: They are used as offerings to gods
&L_6)6T8 655G 55M6uot186m 8 WITES LI LILLI60T LI(H) & 5 L1 LI () G 66T M 60T
B: They are considered sacred and holy
L6l 15 0M&: 8 &[5 & LILIH G 60T m 6or
C: They symbolise prosperity and abundance
Qe ALy wmHmib G enw s &n) &S 6T meor
D: They are used exclusively for temple construction
Gamuile &L RIOMETESH MEG WL HIGLD LIwI6dTLI(H &S L1LI([H 6 60T m 6ot
48 According to the passage, what health benefits are associated with banana leaf extracts ?
USHUNGT LiLg, aUITenLp @) 6mev &M MIL 60T 6T6dTeT 2, CI &SR W [HE0TemLNG 6T QG MLIFLI60 L ULIEm6U?

A Enhanced digestion and reduced obesity
GUULL Q&Fflnmerid IMMILD 2 L6V LIHLOET G6mm& 60
B: Prevention of common colds and flu
VEESHMTAYLD IDMHMILD HTUIFF6 SHLIL
C: Antioxidant effects that may delay non-communicable diseases
QsMTHMT CHTUIGHMET STSLILGSSID oL&aCarmm allemere, g 6T
D: Improved bone density and vision
CILIMSSLILLL 6TIDL] SILFSHSH) LDMHMILD LITTenel
49 What is a traditional practice involving banana leaves in South India ?
Q& 6Tl 1 HH WImeilev eUMemLD §)6M6V8 66T LILIETLITL 1q68T LITFUflu (LDemm 6TedTeor?

A: Using them as umbrellas during the rainy season
LDEMLP & BTV A6V (& 60 L G6TM& LI LIW6TLI() & 5560
B: Serving food on them at homes and restaurants
(&6 DM MILD 2_6roTeUs BIGET60 96U M6 2 6vorey LITKIDMmI%Se6H
C: Using them to make furniture or saris
M EV6TGHET VLS LI 6m6UG6T SWIMlEe LiweTLIHS S &6V
D: Wrapping them around candles for decoration
SVBIGTISHMETSH QLW GaTSH &6 &HMl SiaubHenm CUITTE SIS

50 Why is the use of banana leaves considered eco-friendly ?

QML @ emeuUiledT LILET LM 6T &MHMIFGLNGS 2 HHSHTEH SHSLILGHRMmS?

A: They are made from biodegradable plastics

Semel 106D Llemmevig & ed mia! &wimifles i b &) 6ormeor
B: They help reduce the usage of fossil fuels

Semel Ljen s LILg el 6Tf1QLIMIHLg6r16dr LIL6TLITL 60L& &e0m&:8 2_5 61 5 60T M 60T
C: They serves as a natural alternative to disposable utensils

Seme6l (I (LNEnM LILETLIHSSILD LIMS S TS 6H8 G @) UIMen &sWIMeT LnmmmTE: G& WievLI(H & 6dTm 6ot
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D: They can generate renewable energy+

TG USILIN65558586 MHMen6v 2 (HeUMda (IQU|D +
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